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Question 1 Which of the following situations is compatible with pulmonary hypertension (PH) due to left heart disease?

a) Pulmonary artery (PA) pressure 50/10, wedge pressure <15 mmHg
b) PA pressure 50/10, wedge pressure >15 mmHg
c) PA pressure 40/20, wedge pressure <15 mmHg
d) PA pressure 40/20, wedge pressure  >15 mmHg

e) PA pressure 60/30, wedge pressure <15 mmHg
PH is defined as a mean pulmonary artery pressure (PAP) of 25 mmHg. Calculate mean PAP as follows: (2( diastolic PAP + 1( systolic PAP)/3: 50/10: 70/3 = 23.3 mmHg; 40/20: 80/3 = 26.6 mm Hg; 60/30: 120/3 = 40 mm Hg. In left heart disease the wedge pressure is >15 mm Hg. Therefore d is the right answer.

Question 2 The transpulmonary gradient is defined as follows:

a) Mean pulmonary artery pressure (PAP) minus wedge pressure

b) Systolic PAP minus wedge pressure
c) Diastolic PAP minus wedge pressure
d) Mean PAP minus wedge pressure divided by cardiac output
e) Systolic PAP minus wedge pressure divided by cardiac output
Question 3 PH resulting from congenital heart disease is classified as follows:

a) Group 1, pulmonary arterial hypertension

b) Group 2, PH resulting from left heart disease
c) Group 3, PH resulting from pulmonary disease and/or hypoxia
d) Group 4, chronic thromboembolic PH
e) Group 5, PH with unclear mechanisms

Correct answer is a. Left–right shunting leads to remodelling of the pulmonary vasculature, with thickening of the media and pronounced hyperplasia of the intima. 

Question 4 Which of the following ECG changes are to be expected in severe pulmonary hypertension?

a) A positive QRS complex in lead I; a large R wave in lead V1/V2
b) A positive QRS complex in lead I; a large R wave in lead V4/V5
c) A negative QRS complex in lead I; a large R wave in lead V4/V5
d) A positive QRS complex in lead I; a strain pattern in lead V1/V2
e) A negative QRS complex in lead I; a large R wave in lead V1/V2

The right QRS axis is reflected by the negative QRS complex in lead I. Right ventricular hypertrophy is reflected by a large R wave and a strain pattern in leads V1 and V2. 

Question 5 Which of the following statements about chronic thromboembolic PH (CETPH) is false?

a) Macrovascular CTEPH can be surgically cured by pulmonary endarterectomy 

b) After acute pulmonary embolism the cumulative incidence of CETPH is around 20% at 2 years

c) A large proportion of CTEPH patients never had an evident episode of acute pulmonary embolism before diagnosis

d) CETPH patients can be treated successfully by PH specific treatment 

e) The ventilation–perfusion scan is the recommended procedure to diagnose CTEPH

The cumulative incidence of CETPH is 3.8%. 

Question 6 Which of the following echocardiographic parameters is not considered to be a sign of PH?

a. Paradoxical septal movement

b. Increased tricuspid annular plane systolic excursion (TAPSE)

c. Enlarged right ventricle and right atrium
d. Reduced acceleration time (<120 ms)

e. A tricuspid regurgitation jet of 3.6 ms/s
A reduced TAPSE is a sign of pulmonary hypertension. An increased TAPSE is a sign of a hyperdynamic right ventricle
